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Attempt all questions. Show your working ﬁotes clearly.
A S & I A | SR T w7
1. State with reasons whether the following statements are true or false:
(a) Accrual concept im f‘:.ies accounting on cash basis. |
(b) Prudenc is a copcept to recognise unrealised proflts and not losses.
(c) Any etp nd1t re which is unreasonably large is capltal expenditure.

(d) Heavy advertlsmg expenditure to introduce a new product is .revenue
expenditure.

(e) All assets and liabilities not taken over by the vendee -company are
transferred to capital accounts of the partners.

FR wfed TRY o5 71 Fom w0 ¢ s1oren s — | |
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(e)@ﬁﬁwﬁmaméwwﬁﬁ%@mmﬁﬁﬁﬁma THERI
1Gﬁmqmﬁﬂmﬁimw%| 5

2. (a) Explaln (i) The depreciable cost and (ii) Two reasons for chargmg3
depreciation on tangible fixed assets.

W@laﬁﬁ'ﬂﬂ
(i) e AT o W YR @ S E |
(ii)mmﬂmﬁﬁmwwﬁéﬁawn 2-

(b) Ajay purchased on 1st Jan 2012 certain machmery for Rs. 1,94,000 and spent
Rs. 6,000 on its erection. On 1st July 2012 additional machinery costing Rs.
1,00,000 was purchased. On 1st July 2014, the machinery purchsed on 1st Jan
2012 having become obsolete was auctioned for R% 1,00,000 and on the same
date new machinery was purchased at a cost of Rs. 1 ,50,000. Dépreciation was
provided annually on 31 Dec. at the rate of 15% p.a. on the W.D.V. of the
machinery. No depreciation need to be provided when a maclmnery is sold or
auctioned, for that part of the year in which sale or auction took place. But
for the rest of the machinery, depreciation is provided on time basis. In 2015, _
however, Ajay changed this method of providing deprec1at10Ln and adopted
the method of writing off 10% p.a. on the original cost of the machinery with -
effect from 1 Jan., 2012.

Show Machinery Account for the accounting years 2012 to 201‘5

amr’rwrraﬁzmza%qmwﬂw194000ﬁ@ﬁa°rameﬁwﬁmmrr
Fo 6,000 @9 fwT 1 1 SO, 2012 I Fo 1oooooamﬁa¢ﬁrﬁ?ﬁwﬁ={@ﬂﬁ
ﬂs‘n1@@2014@%%@%1@@2012@%@qu@
A 7 @Y W e § %o 1,00,000 F 39 fean N awn 3@ A Fo 1,50,000
T A 7€ W w0T o T | [T 159 difE W W & Hed e W A
af 31 fagmR S T S € | A g g 9w § T @ Steen Hiam s d
TE R W E W o % 3H fed WA T T e s e 39 A
B 3 e R T 2 | S o T R EEIER e ] R
qofy af 2015 & W Y qeaEE H 3@ fafy @ qRERfd w1 S 2012 @
ST, T A 1095 Ah eSS A e R 1 ‘

é@aﬁzolzﬁasfzmsamqsﬁamml | | 8
Or (3121E)



(a) Distinguish between perpetual and periodical system of inventory valuation.

3 qodich 9 G a9 Tad qedihd sl o sty Fifer | :

(b) The following are the details of raw material of Shyam Ltd.

11212015 |Opening stock Nil

1-1-2015 Purchases | 100 units @ Rs. 30 per unit
15-1-2015  |Issued for consumption 50 units |
1-2-2015 Purchases - 200 units @ Rs. 40 per unit
15-2-2015  |Issued for Consumption 100 units ' |
20-2-2015  |Issued for consumption 100 units

11-3-2015 Purchases 150 units @ Rs. 50 per unit
15-3-2015  |Lose by fire 100 units

Find out the value of stock as on 31-3-2015 if the company follows perpetual
inventory method on FIFO basis and on LIFO basis.

v felo 3 e T I a0 59 YR B—

01-01-2015 ARFE E2Teh N

01-01-2015 |9 fol 100 36 @ %o 30 YT TS
15-01-2015 ITET & faw S 50 3FS

01-02-2015 & foper 200 THE @ %o 40 srra THE
15-02-2015 svAnT & faw s 100 3FE

20-02-2015 3w & forg ST 100 F

01-03-2015 EDRED) 150 1% @ %o 50 srr‘a TS
15-03-2015 3N oM R afaus 100 351

q&msﬁ?ﬁmaﬂaﬁqﬁmwﬁmww@aywo q9 LIFO &
YR W, 31-03-2615 & fE, Wih H od I FT | . 8

3. Following is the Income and Expendlture A/C of the Rohini Sports Club for the
year ended 31-3-2015: —

You are required to prepare (i) Receipts and Payment account for the year ended
31-3-2015 and (ii) Balance Sheet as on the date.

P.T.O.
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Income & Expenditure A/c for the year énded‘ 31-3-2015

xpenditure Rs. |Income Rs.
alaries 24,000{Subscriptions 72,000
ent 10,800|Entrance fees ' 8,000
ates and Taxes 600 Surplus on publication of brochure 4,500
ostage & Telephone 720(Profit on sales of old sports assets 1,200
ffiliation fees to lawn 1,200|Interest on 5% investme;rt 600
‘nnis federation
oorts materials 15,750 Miscellaneous income " 225
lectricity charges 1,200
epairs & Mainte- 9,600
ance of tennis court
‘epréciatipn on assets 4,800
. 10% of book value
-the end of the year
irplus 17,855
86,525 86,525
The following further information is made available: —
31032014 | 31032015
- Rs. Rs.
Sundry assets (including sports goods) 44,000 ?
Bank balance ' | 4,800 ?
Subscriptions in arrear 4,750 . 3,500
Subscr‘ipti(.)ns received in advance 1,40 2,600
5% Investments 12,000 12,000
Expenses ou'tstai‘lding: ’
(a) Salaries 600 1,200
(b) Rent 900 1,800
(c) Rates and Taxes Nil 600
(d) Tennis court maintenance 780 320




Outstanding for purchases of sports material 1,400 2,950

10.

11.
12.

13.
14.

8. Prize fund 4,600 3,250
9. Thé book value as on 1-4-2014 of sports goods sold during the year was Rs. 4,00(

Prize fund is separat::ly maintained — all receipts being credited to it separate
and expenditure met out of the fund directly. During the year credits to tt
account amounted to Rs. 2,800. '

Interest received this year was only for two quarters.

The club was admitted as a member of the lawn tennis federation on 1-10-201 ’
when it paid subscription till 30-9-2015.

Advertisement charges in brochure yet to be collected Rs. 450.
A fixed deposit of Rs. 25,000 was made on 31-3-2015.
31-03-2015 ' §9@ ¥ ¥ fog, Akt WEw Fow kAW a9 @F WA H oA

oA e TR 1 WE @ Ao AT SR W

(i) 31-03-2015 = T o & forg St o o W qaR A
(i) 34 fafy A gor-oa off I | |

0] wo 13T _ Qo
LR - 24,000 |3 3EH 72,00
fepera - 10,800 5% Y | | 8,00
Yoy 9 S | 600|fererfiTer % ST R s 4,50
WL qar e ' 720 -

i T BT W Hesa Yo qU S wrfEl % foska woam| 1,20
e |

weE qh 15,750(5% P W s | 60

forsten = : 1,200|fafqy = - 22

Sf I sl Tomg a9 Ww@-@E | 9,000

Tfesl | oad & = IueTed 4,800
T qod W 10% I8

ey 17,855

86,525 86,52¢
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srelifefed aifufe faer ot vy &—
31-03-2014 31-03-2015
To | %o
1. faferer wrafaar (@e ame Ofiq) 44,000 _ ?
2. 3% ¥ 4,800 ?
3. SR 4,750 3,500
4. i S sivEM 1400 -~ 2,600
s. 5% frere 12,000 12,000
6. AT
(@ 3w | 600 | 1,200
(b) ferra 900 1,800
(QEgamdasm = 600
(d) g 1 1 wE-wEE | 780 320
7. O g ) e w@le 1,400 2,950
3. RERR 4y 4,600 3,250

L oY & ST A T S il W 01-04-2014 F) Y& 45T Fo 4,000 T |

0.‘Wr{ﬁrrua%aqmﬁr@wé-wﬂmﬁaﬁmﬁwﬁwﬁté‘wwﬁ@%‘
WY 9 @ R S § 1 A % R 5w HE § vo 2,800 wH B

1. 39 o9 W9 s, A Q) frmifeEt & o) 2
2. T W BRVH T W 01-10-2014 F I 3R 30--09-2015 @& H HI&IAI

Y[k A L fEm T
3. foaerforen # B faqme & %o 450 a1t o1 99 &1
1. %o 25,000 & EEY A 31-03-2015 H FHUI T4 | | 10
Or (312rE)
(a) What is a contingent liability? Give three examples of contingent liabilities.
STR{TeR AT 2 B B 7 6% A i SR AR | 2

(b) The following Trial Balance has been prepared from the books of Mr. S, as on
31-3-2015 after making necessary adjustments for depreciation of fixed
assets, outstanding and accrued items and placing the difference under sus-
pense account.



Trial Balance

Particulars Rs.  |Particulars Rs.
Machinery 1,70,000|Sundry Creditors 82,000
 |Furniture 49,500|Capital A/c 2,45,750
Sundry Debtors 38,000(Outstanding Exps: | A
Drawing 28,000 " Salaries 1,500
Travelling Exps. 6,500 Printing | 600
Insurance 1,500 Audit Fees 1,000
Audit fees 1,000|Bank interest 1,200
Salaries 49,000{Discount 1,800}
Rent 5,000Sales less returns 6,80,000
. |Cash in hand 7,800 |
Cash at Bank 18,500
" IStock in trade on (1-4-2014) 80,000
Prepaid insurance 250
Miscellaneous Exps 21,200
Discount | 1,200
Printing and stationary 1,500
Purchases less returns 4,60,000
Depreciation:
On macl_linery 30,000
On furniture 5,500
Suspense A/c 39,400
10,13,850 10,13,850

On a subsequent scrutiny the following mistakes were noticed:

(1) A new machinery was purchased for Rs. 50,000 but the amount was
wrongly posted to furniture account as Rs. 5,000.

(2.) Cash received from debtors Rs. 5,600 was omitted to be posted in the

ledger.

P.T.O.
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(3.) Goods withdrawn by the proprietor for personal use but no entry was
passed Rs. 5,000.

(4.) Sales included Rs. 30,000 as goods sold for cash on behalf of Mr. T who
allowed 15% commission on such sales for whxch effect is to be given.

(5.) Closing stock on physical verification amountcd to Rs. 47,500.

(6.) Depreciation on machinery and furniture hac, been provided @ 15% and
10% respectively on reducing balance system

Full years depreciation is provided on addition.

You are requested to prepare Trading and Profit and Loss A/c for the year
ended 31-3-2015 and Balance Sheet as on that date so as to represent a true
- and correct picture.

wéwﬁmmmwmmaaﬁawaﬂwﬁamtﬁmm%m
amwa%aﬁm@ﬁqz@%%rm%ﬁsaﬁmﬁm03-20156%1%::#

we e TR @ |
=it AR %o |=lR - o
wm. L70,000f8fF= @R S | 82,000
e 49,500/ @ 2,45,750
fafis 37eR 38,000/375T 74 -
Sl 28,0000 3 1,500|
T = _6500] gy | 600
e = 1500| stz v 1,000
Afer W 1,000 & =] - 1,200
= 49,000/ L 1,800
= 5,009 2 % AR faRr | 6,80,000
. - 7,800 7
i 18,500 I
AR H IF (1-4-2014) 80,000 3 | |
GECEIL) 250 | |
sy = 21,200 |
L | 1,200 ; |




TR el WY 5v 1,500
o e ¥ S w | 4,60,000
S . :
T 30,000
Al W 2,500
T @I 39,400
' 10,13,850  110,13,850

mﬁﬁﬂéqﬁﬂ@rmﬁﬁf@ﬁﬁwaHW‘rn

(1.) %o sooooqaﬂﬁﬂéﬁwﬁaaﬁmﬁtﬁfﬂxmﬁwﬁosoooﬁtm:
o e e

| (Z)é'rﬁﬁsnta*o56007’1%3%??311?%%?11139@1@:

4. (a)

(b)

(3.) %o 5,000 o4 & A @ g1 SRR vl % feg foran faeg SR @
wiafy T8 & % |

(4.) fosra =t afer & ot T 9 80X @ To 30,000 F T 9= AT Al Wiwferd ¢
Wﬁcﬁwﬁmmw%m‘mfmmma@‘éw e F
o |

(5.) *ifeies Teare W i @i Fo 47,500 WAl R |

(6.) TR T TAER W SR gId WY URfA FRT SRASE 15% A 10% T T
qEagTE S T R |

af % MW 7 T W N @ 9 P qeHEw @i Y, 31-03-2015 F G

oy & foe, Qo @R 9o enu-eif @ 3 s fify @ A geE-ud qER &

I G FI GE A9 aTEfe oo e | ‘ §

Distinguish between financial lease and operating lease.

fertz ugT qen uftarem U2 § oadfe Sifsw : y

A Ltd. purchased on 1st Jan 2014 from M/s SK Traders four machines having
cash price of Rs. 8,00,000 each on hire purchase basis. The payment was to be
made as follows: —

10% of cash price down.

25% of cash price' at the end of each of the following four years. pT O
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1 SEd, 2014 F 4 fafire 7 dwd w@odo a}géﬁmm—maﬂwmaﬂ"

(a)

(b)

10

A Ltd. paid the first instalment but failed to pay the second instalment due on
31st Dec. 2015. M/s SK Traders repossessed three macliines leaving
remaining one machine with the buyer. The value of three machines was
taken at cost less depreciation @ 20% p.a. on reducing balance method. A
Ltd. charges depreciation @ 10% p.a. on reducing balance method on 31st
Dec. every year. M/s SK Traders spent Rs. 4,20,000 on overhauling of
machines repossessed and sold two of the repos ssessed machines for Rs.

12,00,000.

Prepare necessary accounts in the books of both thz parties.

i e S ¥ TAF F TIE qod To 8,00,000 R | YITAH T FER FA
qN— TE o F 10% T A a9 TG qed Al 25% Sfcded AP 9R
aﬁf%aﬁﬁmfao%#mﬁmamgnama:{ﬁm%ﬂﬁm,zmsﬁ
3F frgd 9 8 % UIT| TWHowho, 38d A UH AN Bl & W SIgd T A S
m?ﬁlmqﬁwwﬁr%mwmzq% TR A & aG 3
aﬁmwﬂmmwwﬁwwmﬁwwﬁaﬂm%wﬁﬁaﬁﬂﬁmaﬁ

Or (1)
Distinguish between Hire Purchase system and Ins:ilment Purchase system.

foen-sna ygfa 991 forya W g ugfa o oiR 9w wifvT 2

R.C. Sales Corrporation has a hire purchase department. Goods are sold on
hire purchase at cost plus 25%.

From the following particulars, prepare the ledger accounts by Stock and

Instalments due (customers paying) on 1—4-2014

Debtors Method: —
. P Rs.
Stock with hire purchase customers at selling price on 1—4—2014 | 15,000
1,800

Sales on hire purchase basis during the year ended 31-3-2015 at selling price| 96,500

Cash received during the year 98,300
Goods repossessed (instalment due Rs. 2,000) valued at 1,700
1,100

Instalment due (customers still paying) on 31-3-2015

E ¥ STER W EIRTE @ § 1 o Fo 35€ ¥ v A T WU ¥ AR
W To 4,20,000 T Y To1 3T § & WA F Fo 12,00,000 F = K@M 8



Moo VT FHURYT F T fortrar-sra faum 8 e ream ¥ o § 25%

S TS A= T 2 |

" (b) T Ltd.

M fEu T =R ¥ ‘=i qar 3 vgfa A WK T GRS
) A | To
|eREsha el & e ok e W R 01-04-2014 15,000
37 foRed (3R W 2 W@ 2) 01-04-2014 H 1,300
31-03-2015  FATG =9 IR, o Te W A, R s 96,500
Tgft | A= T |
ad & A e wiaE 98,300
Fed A (9 W 315w fhva wo 2,000) & 79 qed 1,700
37 fpwd 3R WS 2 ® 8. 31-03-2015 H 1,100
5. (a) Distinguish between a “Dependent Branch” and an “Independent Branch”.
‘STIfera WEr qe ‘e wrer # sty S | 2

has two Branches at Delhi and at Bombay. Goods are invoiced to

branches at cost plus 50%. Goods are transferred by/to anothef branch at its
cost. Following information is available of the transactions of Delhi Branch

for the year ended 31-3-2015: —

Rs.
1. Opening stock at I.P. 2,67,000 '
2. Goods sent to bra::ch (including goods invoiced at Rs. 15,000 to
branch on 31st March 2015 but not received by branch before
the close of the financial year) 7,83,000
3. Goods received from Bombay Branch 6,000} .
. 4, Goods transferred to Bombay Branch 51,000
s, Goods returned by branch to H.O. 11,700
6. Goods returned by credit customers to branch 5,700
7. Goods returned by credit customers directly to H.O. 1,200
8. Agreed allowance to customers off the selling price (already - 1,000
taken into account while invoicing) ,
9. Normal loss due to wastage and deterioration of stock (at cost) =_—_.‘31:,000

P.T.O.
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10. Loss in transit (at invoice price) Rs. 6,600 against which a sum of
Rs. 4,000 was recovered from insurance company in full
settlement of the claim.

11. Cash sales Rs. 32,000 and credit sales Rs. 7,29,400.
12. Branch expenses (including insurance charges) Rs. 50,000 1
: 1
- 113. Bad debts Rs. 1,000 and discount allowed to customers Rs. 500. | ’

Prepare Branch Stock A/c, Branch Adjustment A/c and Branch P&L A/c, if
the closing stock at branch at its cost as per physical verification amounted te.
Rs. 2,00,000.

ﬁﬁ%ﬁﬁﬁaww@ﬁﬁw@%wﬁﬁw&mmso%%
@W{@Wﬁﬁﬁmmélwm/ﬁqm 3T A W S fw
aTaT%-:31-03-2015ﬁwﬁ%mmw%éﬁ-ﬁmws‘g

SN[ 7 [~ >

SR | . |
%o

1. [dSe e R AR wi | 2,67,000

2. |smEr S Sy we (e 31 W, 2015 W To 15,000 e ;
T HI 9Tl 9ifie & S oW % MW &9 ¥ ygel v d
& o Y 7,83,000
e W ¥ I A | | 6,000
g I S fafia A 51,000
TG 510 Y4 e H A argsy 11,700
SN TRl < VIR 1 Al a1 R | 5,700
YR UTEH A WY T9F wAT B AT a9 AT 1,200
forsft e W UTeS F W G2 (T VR T SHH G
e ¥ @ o fom ) | 1,000

9, WIF & T qA1 Ja15 T & PRI (AN W) = 71l 1,000

10. [amf & g€ @t (o qea W) %o 6,600 forEh fawg dan ae ¥, |
s et § gof froeR & %o 4,000 T T

l11. |7 fs %o 32,000 9T 3R T Bo 7,29,400

12, [wrE & @ (9 = EfE) To 50,000

13. |92 @W %o 1.000 T UEH A B & Fo 500



afe wrEr & s gEr ¥ SMER W, SU o @ W AfH 'i Fo
2,00,000 & A VG Wi @, TG FArESH Sl 741 Y AR @ FIR
Ffe | o 8
: Or (31¥@)
(a) Explain the procedure of incorporating the Branch Trial Balance in H.O.
Books.

T %) e e S uE sl @ qRe § ettt w0 st 6
AR | | 2

(b) C Enterprises with their H.O. at Rajasthan has a branch at Delhi. The goods
are supplied to branch at 25% less than the list price which is cost plus 100%
of cost. The Head Office also supplies goods to its dealers at the same price at '
which they are supplying to its branch at Delhi. ‘

From the following particulars, prepare Trading and P&L A/c of the H.O. and
that of its Branch: — :

Head Office Delhi Branch
. Rs. ’ Rs. '

Opening Stock 60,000 33,000
Purchases during the year 45,00,000 -

Goods sent to Branch 18,70,000 -

Goods received from H.O. - 18,70,000
Goods sold to dealers | 2510000 -

Goods sold to customers at list price 32,00,000 24,00,000

o TerTf, f S e o 3 3, 3 el H O W g
) el sifed YT (S A S 100% B ¥ 25% A qed R A ferEn S
3\ wum wEfeE o Serl @ f T 7o W (e W R @ 2 F) A

o ® |
o) fru MU @R % MER W VM FEiGT ad IER R H MR 9
GiuS ERCIGIRICAI R | | 8
eI Ao faelt virEn
%0 o
AR Wik 60,000 33,000

T 6.
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o & SRE e 45,00,000 —
@ S S A 18,70,000 _
SYF FEieE A S el ~ 18,70,000
SRl A T o 25,10,000 -
e R SAfRT ToT W 32,00,000 24,00,000

6. (a) What is Gradual (Piecemeal) distribution of cash?

TIE 1 H (Fred-feed) o amm aar 22

(b) R, Z and T shared profits and losses in the ratio;_olf 5 : 3 : 2 respectively. On

31st March, 2015, their balance sheet was as follovis: —

i

23

Rs.

1,00,000

|Liabilities Rs. Assets
Trade Creditors 30,000 Furniture 11,000
Bank Loan 10,000 Stock 48,000
Capital A/C _ Cash 1,000
R 30,000 P&L Alc 40,000
20,000
Z - o crm—
- 16,000
T ,
1,00,000

The Bank had a charge on all assets. Furniture réalised Rs. 3,000 while the
entire stock was sold for Rs. 25,000. Z’s private e,s?tsate realised Rs. 6,000; His
private creditors were Rs. 5,000. T was unable to contribute anything. R paid
one-third of what was due from him on his own account (before considering

the one-third payment by him in his capital account).

- Prepare Realisation Account, Cash Account, Partner’s Capital Account,
passing all matters relating to realisation of assets and payment of liabilities
through the  Realisation Account. Clearly show calculation regarding cash

brought in by R.

R,Z T T %A% 5 : 3 : 2 & 39U § @ gif fawifog &@ §1 31 919,
2015 % I ToI U 3H TR Ai—

2

Bo

TogteEt

Ko




Y & ATER /30,000 ek 11,000
A T 10,000 wiF 48,000
st @ T 1,000
R - 30,000 TNY-gifA @ 40,000
20,000
Z
10,000
T
."1,00,000 ~1,00,000

mﬂwﬁa’rwéﬁaﬁmwwqﬁmﬁ’éoBOQOW@WQ\HEWM
25000n%|mwnza?rﬁsﬁwf‘ﬁ€rzo 6ooom§qmwaﬁﬁsﬂ
3Fand o 5,000 &1 T o weAr e 3 G e o R Y = A, S
W@I@éﬁ(mtﬁﬁ@ﬁrq@ﬁﬁﬂﬂmﬁt@mm@fm,

fewn 2 feam

a@gvﬁ@ﬁ%mwnﬁmﬂwﬁmﬁaﬁ?ﬁmﬂéwaﬂwwm@
a@mﬁmmawmmﬁgﬁ@%ﬁmﬁmmmm‘ﬁw
Tl & gaifem @ OIS AT TE |

Or (312rEm)

(a) Briefly explaln the Garner Vs. Murray rule.
TR g W free G § EHRET

&

~
4

(b) A partnership was dissolved on 30th Jﬁn_c }20.]»57 hsBalanre Sheet or:lithe date

of dissolution was as follows: —

Liabilities Rs. Assets Rs.
Capitals: Cash 5,400
R 38,000 Sundry Assets 94,600
24,000
S
18,000
M
Loan Account of S 5,000
Sundry Creditors | 15,000
1,00,000 1,00,000

The assets were realised in instalments and vpayment

was made on the
P.T. Q.
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proportionate capital basis. Creditors were paid Rs 14,500 in full settlement
of their account. Expenses of realisation were estirrated to be Rs. 2,700 but
actual amount spent on this account was Rs. 2,000. This amount was paid on
15th Sep, 2015. Draw up a statement showing distribution of cash which was

realised as follows: —

16

On 5th July 2015 Rs. [12,600 -
On 30th August 2015 Rs. (30,000
On 15th September 2015 Rs. 140,000

The partners shared profits and losses in the ratio 072 : 2 : 1. Give working

notes.

30 ST, 2015 1 T WA W A T | 3G & IWH qOH-TF TU IR O

ATy To st o
(s T Tl 5,400
R 38,000 ffir= Trafit 94,600
24,000
S |
18,000
M
S KT TNl 5,000
T RN 15,000
1,00,000 1,00,000

wﬁﬁﬁa@ﬁwﬁfﬁﬁvﬁwwmi&ﬁ%aﬂwmmnw

AR Fo 14,500 I IR TR H g0 FRRT @R 1| ageh ¥ oAt =
¥ 2,700 & fohg 39 WE § @ ¥ To 2,000 & @H T THH YA 15 FoAweR

2015@53%:masrﬁﬁwmﬁgqqaﬁamﬁwﬁmwﬁﬁﬁmaﬁaﬁaﬂ

39 YER §5—
5 e, 2015 Fo 12,600
30 3T, 2015 - [¥0 130,000
15 faawiy, 2015 %o 140,000

HIHER 2 : 2 : 1 % YT & o19 B oieq & | ToE uRee Si% § gy |

8
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